10850006 DUAL SECTOR V-BOOMS

ITEM | QTY. | PART NO. DESCRIPTION WEIGHT
1. 1| C10899050 | PIPE MOUNT ASSEMBLY W/TRI—COLLARS 678

2. | 6 | CW01454 | WELDMENT, STANDOFF ARM (OUTER) 356

3. | 3 | CWO1477 | WELDMENT, STANDOFF ARM (INNER) 181

4| 12 | CWO1478 | WELDMENT, SPLIT FACE PIPE 491

5. | 6 | CS03947 | PLATE, ROTATING 95

6. | 3 CS03110__| PLATE, PIVOTING (UPPER) 18

7| 3 CS03111__| PLATE, LEG CLAMP (UPPER) 52

8 | 3 CS03112__| PLATE, PIVOTING (LOWER) 41

9. | 3 CS03113__| PLATE, LEG CLAMP (LOWER) 52

10. | 6 CS03114 | PLATE, LEG CLAMP (BACK) 42
1| 3 | CSO0098 | PLATE, TIE BACK SWIVEL 8
12 | 3 | CS03922 | PIPE, TIE BACK 2 3/8 ¢ X .154 X 8-0 91
13 | 3 | 10158003 | ADJUSTABLE CLAMP ASSEMBLY 21
14. | 6 | C40026073 | BOLT ASSEMBLY, 1 ¢ X 3 A325 N
15. | 24 | C40140004 | BOLT ASSEMBLY, 5/8 4 X 8 A307 40
16. | 3 | C40026033 | BOLT ASSEMBLY, 5/8 ¢ X 4 1/2 A325 2
17. | 48 | C40026025 | BOLT ASSEMBLY, 5/8 ¢ X 2 1/2 A325 24
18. | 27 | C40026024 | BOLT ASSEMBLY, 5/8 6 X 2 1/4 A325 14
19. | 3 | 730992049 | MOUNT CLASSIFICATION TAG C10850006/16 1
20. | 6 | C40062103 | STAINLESS STEEL SELF-LOCKING CABLE TIE 1
2249

PACKAGING NOTE [LTOTAL WEIGHT

(3)-CK00416—EQUALS ITEM 2

CK00433—STL INCLUDES ITEMS 4 & 12

(3)-CKO00433—HDW EACH KIT INCLUDES ITEMS 5 (QTY. 2), 6 (QTY. 1), 7 (QTY. 1),
8 (QTY. 1), 9 (QTY. 1), 10 (QTY. 2), 11 (QTY. 1), 14 (QTY. 2), 15 (QTY. 8),
16 (QTY. 1), 17 (QTY. 16), 18 (QTY. 9), 19 (QTY. 1) & 20 (QTY. 2).

NOTES:
. MOUNTING PIPES & CROSSOVER PLATE KITS MUST BE PURCHASED SEPARATELY.

N —

UNLESS OTHERWISE SPECIFIED

FINISHES AND ARE IN INCHES
TOLERANCES: FRACTIONS + 1/16"

. KEEP THE ADJUSTABLE CLAMP (ITEM 13) AS CLOSE TO THE END OF THE

STANDOFF ARM (ITEM 2) AS POSSIBLE.
3. QUANTITIES SHOWN IN LIST OF MATERIAL ARE FOR (3) V-BOOMS.
4. THESE V-BOOMS WILL MOUNT TO A 12" 0.D. TO A 40" 0.D. MONOPOLE.
5. IF YOU ROTATE (1) SECTOR ONLY YOU MANY NEED (1) LONGER TIEBACK PIPE

(MUST BE PURCHASED SEPARATELY).

PATENT PENDING
Sabre Industries?) DUAL SECTOR V-BOOMS
TOLERANCES DO NOT APPLY INNOVATION DELIVERED W/POLE PIPE MOUNT ASSEMBLY

» »
CONFIDENTIAL (10" TO 40" DIA. POLES)

This document and the information

contained herein is the confidentiol trade

secret property of Sabre Industries, Inc.

("Sabre”) and must not be reproduced, S1ZE DRAWING NO. REV

copied or used, in whole or in part, for

any purpose without the prior written DATE os/18/21| B 10850006 0

consent of Sabre.

©2021 Sabre Industries, Inc. Al rights DRAWN BY WRF SCALE PAGE

reserved. CHECKED BY EK None 1 OF 4




SEE NOTE 1

MONOPOLE

\ ’\ —~ _~ SEE UPPER MOUNTING DETAIL
KN ON PAGE 3

9"t

3-5 3/4"

SEE TIE BACK DETAIL
ON PAGE 3

SEE NOTE 1

ON PAGE 3
o VIEW A-A
(FROM PAGE 1)

SEE TIE BACK DETAIL
ON PAGE 3

UNLESS OTHERWISE SPECIFIED MATERIAL:
ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES -

. . Sabre Industries) DUAL SECTOR V-BOOMS
ISOMETRIC VIEW LRSS GtEs 5 172066 Totsraces oo wor ALY INNOVATION DELIVERED W/POLE PIPE MOUNT ASSEMBLY
e e e DECIMALS # .010" TO RAW MATERIAL (10” TO 40n DIA POLES)
SHOWING SINGLE BOOM CONFIDENTIAL .

This document and the information
(TYPICAL 3 PLACES) contained herein is the confidential trade

secret property of Sabre Industries, Inc.
("Sabre”) ond must not be reproduced, S1ZE DRAWING NO. REV

copied or used, in whole or in part, for
any purpose without the prior written DATE o8/18/21| B 10850006 0
consent of Sabre.
©2021 Sabre Industries, Inc. Al rights DRAWN BY WRF SCALE PAGE
REV| DATE  |DRW|CHK] DESCRIPTION reserved. CHECKED BY EK None 2 OF 4




TYP TOP
& BOTTOM

LOWER LEG MOUNTING DETAIL

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES

TOLERANCES: FRACTIONS + 1/16"

ANGLES # 1/2 DEG.
DECIMALS # 010"

ADJACENT V-BOOM

TIE_BACK DETAIL
(ONE END EXPLODED)

MATERIAL:

TOLERANCES DO NOT APPLY
TO RAW MATERIAL

Sabre Industries")

INNOVATION DELIVERED

RE

DATE

IDRW|CHK|

DESCRIPTION

CONFIDENTIAL
This document and the information
contained herein is the confidentiol trade
secret property of Sabre Industries, Inc.
("Sabre") and must not be reproduced,
copied or used, in whole or in part, for
any purpose without the prior written
consent of Sabre.
© 2021 Sabre Industries, Inc. All rights
reserved.

W/POLE PIPE MOUNT ASSEMBLY

DUAL SECTOR V-BOOMS

(10" TO 40" DIA. POLES)

SIZE DRAWING NO. REV
DATE os/18/21] B 10850006 0
DRAWN BY | WRF scalE | PAGE
CHECKED BY EK | None 3 OF 4




SABRE TRI-COLLAR COLLAR—"
(SHOWN TYPICAL)

5/8 ¢ BOLT ASSEMBLY
ON V-BOOM BRACKET

KIT _C30017022

SABRE V-BOOM
(SHOWN TYPICAL)

— SAFETY CABLE

KIT C30017031

OPTIONAL LOCKING CABLE GUIDE

IF REQUIRED PLEASE ORDER THE APPROPRIATE KIT BELOW TO FIT YOUR

INDIVIDUAL FIELD NEEDS.

SABRE TRI-COLLAR COLLAR
(SHOWN TYPICAL) \

SABRE TRI-COLLAR COLLAR

(SHOWN TYPICAL)

SAFETY CABLE

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES

TOLERANCES: FRACTIONS + 1/16"

ANGLES # 1/2 DEG.

NOTE

OTHER ADDITIONAL CABLE GUIDE SUPPORTS MAY
BE REQUIRED ABOVE AND BELOW V-BOOM S

THAT CABLE ALIGNMENT IS WITHIN REQUIRED LIMITS.

SAFETY CABLE

KIT C30017032

MATERIAL:

TOLERANCES DO NOT APPLY
TO RAW MATERIAL

Sabre Industries")

DECIMALS # 010"

CONFIDENTIAL

This document and the information

DUAL SECTOR V-BOOMS
W/POLE PIPE MOUNT ASSEMBLY
(10" TO 40" DIA. POLES)

contained herein is the confidential trade

secret property of Sabre Industries, Inc. SIZE DRAWING NO. REV
SAFETY CABLE ("Sabre”) ond must not be reproduced, -

copied or used, in whole or in part, for

any purpose without the prior written DATE os/18/21| B 10850006 0

consent of Sabre. DRAWN BY WRF

©2021 Sabre Industries, Inc. All rights SCALE PAGE

REV| DATE  |DRW|CHK] DESCRIPTION reserved. CHECKED BY EK None 4 OF 4




